Math 70 Additional Final Exam Review

1) Find the inverse of each function.

2)

3)

4)

5)

6)

7)

8)

a.
b.
C.
d.
e.

f(x) =64x3 -1
gx) =V64x—1
h(x) = (64x — 1)3
k(x) = 64Vx—1
m(x) = 64Yx -1

Find all intercepts of

a.
b.
C.

2x + 3y =12
fa)=—5x—7
f(x)==-2(x-3)2+4

Use the function f(x) = x> — x> + x — 1

a.
b.
C

Find f(1)
Find f(-1)
Find all intercepts.

Write a linear function with the given characteristics.

a.

b.

c.
d.

Slope is — g and y-intercept is -5
Slope is — § and pass through (1, -5)

Pass through (1, -5) and (-2, 3)
X-intercept is -5 and y-intercept is 2

Solve the inequality and write the solution using interval notation.

a.
b.

C.

d.
e.

x2—4<0
x*-9<0
x2>9

x%-16

x+3
3-x24+x-120

Write an equation and solve the problem.

a.

b.

Ifyou pay 5300 for a 64-GB device, this is 20% more than the price of a 32-GB device. What is the
price of the 32-GB device?
Ifyou pay $120 for a TI-84CE, this is 20% less than the price of a TI-89. What is the price of the TI-89?

Write equation(s) and solve the problem.

a.

b.

A pharmacist needs 70 liters of a 50% alcohol solution. She has available 30% and 80% solutions.
How manv liters of each solutions should she mix to obtain 70 liters of a 50% alcohol solution?

Find how many quarts of 4% butterfat milk and 1% butterfat milk should be mixed to yield 60 quarts
of 2% butterfat milk?

A pharmacist needs 500 ml of a 20% phenobarbital solution but has only 5% and 25% phenobarbital
solutions available. Find how many milliliters of each she should mix to get the desired solution.

Write an equation and solve the problem.

a.

b.

You walk 1.5 mph faster than your friend. You walk 7 miles in the same time that your friend walks 4
miles. Find both speeds.

You drive 6 hours on a level highway and then 2 hours more in the mountains. Your speed in the
mountains is 20 mph slower. You drive a total of 300 miles. What is your rate in the mountains?

You drive 6 hours on a level highway and then 2 hours more in the mountains. Your speed in the
mountains is 20 mph slower. You drive 300 miles more on the level than in the mountains. What is
your speed in the mountains?



9) Solve each equation.
a. log,(x?+x)—log,(x+1)=0
b. log,(x*+2)+1log(x+1) =0
¢ log,(3x-1)=1
10) Write an equation and solve the problem.
a. yvariesdirectly as the square ofx. y = 10 when x = 2. Findy when x = 3.
b. yvariesinversely as the squareofx. y = 10 whenx = 2. Findywhenx = 3.
c. yvaries jointly as x and inversely as the square of z. y = 10 whenx = 2 and z = 3. Find y when
x=3andz = 5.
11) Solve each system. Write each solution as an ordered triple.
—-x—-y—-2=16
d

o~

2x—-y—3z=172
2x+2y+5z=-6

S5x-3y+z=-12
b { x+2z=-375
y—2z=375
4x+y-z=-§
C. x—3y+z=§éZ
2x+52=§
12) Solve each equation.
a. x*=16
b. x2=-16
—~ c. 3x—-1)2%=16
d (B3x—1)?%=15
e. 3x2—-x=15
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